MPPSC Previous Year Paper
. (CSAT) Paper-ll
(Prelims) 17 Dec, 2023




SRR R R R O R R R ERBHRREEEE
s EEEE C i
oo ::f) T .:.:.
s fSEEh (L@ oo
J - R RSP3/11/202 e,
& Cn 24| @
& SET D U 11 & 4
2 | W EE
g FIEPATE : wteefi st iR fow T @i ferd g 8| E
s Roll No. Candidate should write his/her Z 3
3 Roll No. in the given boxes : '{.i;.
::":-: Eﬁﬁ ‘{B‘T %1 T&T1/No. of Printed Pages : 32 DA yzl <t @&d1/Total No. of Questions : 100 ,:-:;:.:
$%  THI/Time : 2 9v/Hours quit/Total Marks : 200 3

09y 90,
(] .o..' (]
®o0 %

A B Sl 3 ot @ | el s GRTZAR FE off W g wHR E 0 =
:'-’;.: 2.  I¥EYidchl H MRl b1 IHuiia qedl 100 2 | whemefi stvew &1 o 6 -G I fyifta 9= 9 994 ,:-:;:._
2 3. wlivEmafmREl 7 : &
A $E 4, gl F F EEEE , . &
% s W-ﬁm%mwmmg@mﬁaﬁq@iaﬁmaﬂé%|qﬁwﬁamaw?féﬁﬁm- Td
& freifea S # g8 @ &, I 9% GEG -G 7 | o &
= 6. ToR T (3T, He) R R e P e 3 9 T Iot qegdr R H 1 &
# g, P SaLTEE (..M. i) w Fiuiia cuml @ eevas gffea w, o T /A ! =
E o ot w0 wE SR F ooifm g8 W Puff wm w A, o wl T e SR
= (3h.wm. 3R, Te) T ot 7T | , . . &
& o aﬁ%@ﬁmﬁ%@ﬁw@aﬁéwmamwﬁgﬁé,a’rm%fg-—qﬁwaiﬁ?ﬁwiaﬁﬁﬁ 2
=t TR B T AT T | &
= INSTRUCTIONS TO THE CANDIDATES 54
::";’: 1. This Question Booklet is printed in Hindi and English languages. Candidates should select any '.":.:'-
'.','::‘- one of the two languages according to their convenience. - ..z.
<% _9. The Question Booklet contains 100 questions. The examinee .-should verify that the requisite :‘:‘:.’
":.-:‘:' number of questions are printed in the Question Booklet, otherwise he/she should ask for another _‘".;.:
et Question Booklet. o =
o . s
3. All questions are compulsory. &

g 4.- All questions carry equal marks. - _ . ‘ -.'3.
5. The cover page indicates the number of pages in the.Questlon B90klet. The examinee should :‘::.,'
verify that the requisite num.ber of pages are attached in the Question Booklet, otherwise he/she :'.:.':

should ask for another Question Bf)oklet. =

6. Read carefully the instructions given on’ the Answer Sheet (OMR Sheet) supplied and indicate -::':'-.

your answers accordingly. S ‘::.

7. Kindly make necessary entries on the Answer Sheet (OMR Sheet) at the places indicated and :-..:_.-
nowhere Ny k in tl ace meant fi h work :":‘.':

of the Question BOOklf'et i'mt(fiil:l: ‘Zi:her of p'rinting or of factuals‘nature i(I}‘l ;OMR . ‘.'.":"

i t of m1s 2 ny questi . o

B e o versonof s avsion, e s vorson vl s s i
Han P ,_..;:,.;5;..:_.';{;;{5,'-:’.-'}'.'55 :’:'}f:}=‘:.‘vt’:}f:(1’:}z’:}{:}::.‘f:}f.-.‘t:}f:}f:)t':}::} Tediedied :'.‘t.-.‘t,-}-.':3;_.‘;.,-53,_-';}{53‘?3‘.:.}‘.‘:}_&.. e ;

"(1-D)
2RSP3/11/2023

Page 1

%,

R

&



=
7 d. 1- 5(@mww;zmgmmﬁv

HAIuT-1

@ iR it § e yfrw F
R | 3% THAM, Ted A, wyie o T6 @

i 3 T A Hag ¥ | o, T T B

Tt 6t ot we et Siwet 3, &
T % T B FH B L | TG T R
T TR A W AR | W qaww A T
TIEA 1 I0ART TR e ® | A erm
1 sk § At g T A gEen @
e = & [ HEE | e i aRafda
ot = wa e o1 w5 | Seaffa g
yisean 3 ol e % i vel f admm
s fomamett- <t g i sfowfta (feedback)

¥ R W Ik e @ feEm @ % b

qmg$mﬁﬁﬁmdﬁmﬁ%|

TS - T IS
srpa @ i wfon @ wewm w1 3w

ST % | ST AR T g AR |
¥ FEOE qFl AR i F WH W
eI T faasyl foemt ) ufeeenfia e

S @ |

4 WA 9E ¥ ufy e faenfid

T FA FEAAE ?
(A) THE-TcafiERm
(B) ™

(@) Sa-fanfa

(D) T A & HE T

SRSP3/11/2023

2.

3.

(2-D)

fmm%zaymﬁwﬁmmmanmﬁm@ﬁ%—

(A) TIH

- (B) =fwa Igdd

(C) wam
(D) ESHTHH AIE-TIefieRT

w Irm foed Rt feml @ fadey
feremdl & witreenfiq o ST R, e

(A) &

(B) TAHICH SIeae

(C) HeiTensh WTe-eaefiemor

(D) 39w @it

Iﬁqﬁmﬁgaqmaa”?Q§ﬁﬁﬁﬁm$an

'Hﬁﬂﬁwwmmév

(A) oty
(B) Sa-ufomfta
(C) &M

- (D) wEE

ﬁﬂﬁﬁﬁfﬁﬁiﬁaﬂ$ﬂ$§mgzﬁqﬁgq
fgd P 2 9

@) frify ]

(B) &M

(C) =afrea uiadq

(D) 3w wft

Page 2



EEE
i
R

Questions No. 1 - 5 (Based on, Passage-1)
Passage-1.

Stress plays a significant role in
physical diseases. Hypertension, heart
disease, diabetes and even cancer are
linked to high level of stress. Th’erefore,
knowing techniques to manage stress is

very essential.

Relaxation  technique is an
important skill that reduces symptoms of
stress. It calms the mind and relaxes the
body. Deep breathing is used in this
technique. The yogic method of meditation
consists of a sequence of learned
techniques for refocussing of attention that
an altered state of
The biofeedback is a
procedure to develop awareness to monitor
and reduce the physiological aspects of
stress by providing feedback about current

physiological activity.

brings  about

consciousness.

Creative visualization is a subjective
that imagery and

Cognitive behavioural
techniques are meant to replace pegative
and irrational thoughts with positive and.
rational ones,

experience uses

imagination.

for the

b Developing an * awareness
Physiological responses is known as
(4) '

(B)

" (C)

(D)

Visualization
Learning
Biofeedback

None of the above

RP3/11/2023

(3-D)

(B)

Subjective experience that uses imagery is
(A) Cognition '

(B) Personél experience
Emotion

©

(D) Creative visualization

The | approach | to  replace jrrational
thohghts wifh rational ones is ca}led

(A) Meditation

(B) Cognitive béhavioural technique

(C) Creative visualization

(D) All of the above

Which technique is used to calm the

mind ?
(A)- Relaxation technique
"Biofeedback

(C) Meditation

(D) Courage

Refocussing of attention coulq be done by

which of the following techniques ?

(A) Relaxation
(B) Meditation
(C) Change in personality

(D) All of the above
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stions No. 6 - 10 (Based
Q"‘,’ on Passage-2) 7. Little stress may cause

Passage-2
& (A) Low motivation

All th.e challenges, problems and .(B) High motivation
difficult circumstances put us to stress.
Thus, if handled properly, stress increases _
the probability of one’s survival. Stress - (D) ‘Both high and low effect on

. (C) No effect on motivation

gives energy, increases human arousal motivation

and affects performance. High stress can

produce unpleasant effects and cause our |8. Eustressis

performgnce to deteriorate. Conversely, " (A) Sometimes good
too little stress may cause one to feel low

e . (B) Bad
on motivation, which may lead us to
perform slowly and less efficiently. It is | (C) Always good
important to remember that not all stress ) D) - None of-the above

is inherently bad. ‘Eustress’ is the term

used to describe the level of stress thgt is |9, Toohi gh level of stress leads to
i 's best assets -

good and is one of a persons ¥ 4) High performance

for achieving peak performance. Eustress,

however, has the potential of turning into (B) Low performance

‘distress’. It is this latter manifEStati.on of (@ Fleasant effect
stress that causes our body's wear and (D) All of the above
tear. b
1|10 Stress is not generated by which one of
6. Which of the following causes wear a7 the following ?
tear i body ?
ar in our body ? (A) Challenges
A
(A) Eustress (B) Problems
(B i '
B) Distress (C) Difficult circumstances
(C) Normal Effect (D) Resources
(D)' Both — Distress and Bustrea®
(5-D )

2RSP3/11/2023 -
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11. If a shop gives 30% discount and then(14. Ifthe number of accidents occurring in the

provides another 20% discount, then the middle of the road is much more than the

total discount will be ) ] .
accidents occurring on the side of the

(A) 50% ) ' road, then
B) 42%
(A) Make the citizens aware and
(C) 44%
construct speed breakers
(D) 56%
(B) Organize celebrity events

12. If the distance between city P and city Q (C) Infer that walking in the middle of
-is x km and the distance between city Q " :

. and city R is y km, then the distance

the road is safer

between city P and city R is :
‘ v Y (D) None of the above
(A) x+y |

(B) greaterthanx +y

(C) less than or equal tox+y

(D) None of the above 15. Postponement of an event is an
administrative way of
1. The next number in this series will be (A) Taking time for beAtter preparation

71,73, 79, 83,89, ?_ . -
’ (B,) Teaching a lesson to the populace

(A) 96
. (B) 8 | | (Q) Both (A) and B)
(C) 98 | X
) 9 (D) None of the above
(D) 99
. . —-D
2RSP3/II/2023 7=e
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(a) wheF F TG 5 e e Y

O
(B) 7HU 4 9%d ®i

(C) ﬁﬁmmﬁa@ﬁw

(B) HATER Tl 1 1 et 1 v

2RSP3/11/2023

e

19.

20.

(8-D)

R 24 ST, 1979 H HTEER 2 A FrefRey
H @ B fifr wemEm 2 2

(A) 213, 1980

(B) 223, 1980

€) 23@?1%, 1980

(D) 24 s, 1980

A TR B T D WY Y i @ 2 oain
TR A1 o P oofv Q €, i P, Q & s
B | :

(A) nP2

(B) nQ?
(C) P2 + Q2

D) P2 - Q2

ﬁvfaém@\m_gl
(&) e |
(B) wadd

'(a) s

(D) U 8 | B
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16. If ‘No S is P’ is a false statement, then | 18-
which of these statements is necessal:ily

true ?
(A) AllSisP
(B) SomeSisP

(C) SomeSisnotP

19.
(D) None of the above

17. If you find that the question paper is too
difficult and seems to be out of the

syllabus, what will you do first ?

(A) Tell the examiner that questions are

out of course

(B) Copy from others 20.
(C) 'Walk out of the examination hall
(D) Try to solve the questions as much as
possible
' (9-D)
2RSP3/11/2023

If 24" July, 1979 is a Tuesday, then
which of the following days is a Tuesday ?

(A) 215t July, 1980
(B) 22nd July, 1980
(C) 23rd July, 1980

(D) 24th July, 1980

If two cows are tied to a common pole and

the lqngth of the ropes are P and Q, where

P is greater than Q, then the total area

grazed by both the cows willbe .
A) 'nP2

(B) nQ?

(C) nP? + nQ?

(D) nP2 - Q2

Decision-making is a process.
(A) Cognitive

(B) Superficial

(C) Random

(D) None of the above

Page 9
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(B) e E
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21. What is Problem solving ?

22,

- 23,

24,

From the options listed below,

. (D)

(A) The ability to identify the problem,
cause of the problem, analyse
solutions and implement the best

solution.

The ability
traditional knowledge
communities  accumulated
several generations.

The ability to help two parties to
resolve their differences.

The ability to read books and
give/provide comprehensive and
detailed information about an issue.

(B) the
of

over

to  describe

©

(D)

Training in Brainstorming signifies
(A)
(B)
©
(D)

Decrease in creative problem solving
Increase in intelligence .
Neutralising of creativity

Decrease in intelligence

identify
which one is not a communication skill.
(A) Active listening

(B) Empathy

(C) Complexity

(D) Open body language

ich the following is not a
T ¢ E o 1 Intelligence ?

component of Emotiona

(A)
(B)
(©)

Self-awareness
Self-motivation

Conflict representation

Social skills

(11-D)

RSP3/11/2023

25.

26.

27,

(D)

What does an interview imply ?

(A) - Data analysis

(B) Observation

© Communicatibn
Faée-to-face conversation

From the options listed below, identify the

barrier in communication.

(A) ,Dis‘interest

(B) Clear message -
(C) Lack of confusion
(D) Physical comfort ‘.

“Communication is the transference and

- understanding of meaning.” Who gave
. this definition ?

(A) " Robbins
~(B) Stewart

(b) Taylor

(D)  McGregor

Page 11
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28. Freifafm § @ winan Rived wive deaff 3|31 4mmmmaﬁwaﬁm27%|3q

wafm g 3 o e A g ad e
(A) 9=zg ‘ | (A) 32
(B) fwezw | (B) 36
(©) Iwmm - - (©) 30
@) €3 ~ |l D e

29, ﬁm‘%‘%aqﬁﬁqmﬁwmeSZ. AﬁTBﬁaﬁqﬁ'mﬁ5:4W3@1ﬁ%l

ST TF R 2 aa@f‘ﬁf:ﬂﬁmﬁmawaﬂmmm
. : EIRCREIC] et 2 2
(A) Fursy iy a1 smnfy 4 ) ™ :
\ ' (A) gad
(B) &M
(B). 9a¢
(G) Rom
(C) 1094
(D) =FEER
(D) 1294

30. foa fagm 3 %a1 & 5 daw # srnfes oo
L ED Wy 3. P oitesh & e g i :

36, 72, 49, 45, 60, 33, 52, 61 ikt 72

(A) 90
&) 52
(B) Henfadd
| (B) 60
(C) Uewad |
(@ 49
(D) & g0
(D) 61
2RSP3/11/2023 (12-D)
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28.

29.

30.

2RSP3/11/2023

Which of the following is not related with
Social Networking ?

(A) Threads r

(B) LinkedIn

(C) Instagram

(D) eBay

Which one of the following options is not a

part of conflict process ?

(A) Potential opposition or
o incompatibility

(B) Intentions

((:J) " Motivation

‘(D) Behaviour

Which thinker said, “Non-vefbal elements

are more important in communication” ?.
(A) Bandura

(B) Mehrabian

(C) Ellsworth

(D) CarlJung

31.

32.

33.

(13-D)

The average of 4 consecutive even

~numbers is 27. The largest of these

numbers will be

(A) 32

(B) 36

(C) 30

(D) 28

The present ages of A and B are in the
ratio 5 : 4. Two years ago the ratio of their

ages was 4 : 3. What is the present age of
A? '

(A) 8years

B) 9 years

(C) 10 years

(D) 12 years

Find the medi‘an from the following data :
36, 72, 49, 45, 60, 33, 52, 61 and 72

(A) 52

(B) 60

(C) 49

(D). 61
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34. Fifera ardard & freht wfaw & wd = =i |36,
TeRia e man R | AR wim W 3w T 4800
T = B A, @ w6 W Fa R w9
EREIE R

(A) ¥ 15,000

(B) < 16,000
(C) ¥ 17,000

(D) T 18,000

35. TH 319 94 1 65% T Hal & 3 9 wyg
T 525 %l 994 FWI 3 | @ IR WiyE ang
w12 ?

37.

(A) T 1200
(By ¥ 1500

(C) < 1800

(D) T 2100

2RSP3/11/2023 (14-D)

ﬁﬂ%‘f@ﬂﬁﬁm%WW
=afedg i :

E
7

(A) 1,2,3,4
B) 2,4,3,1
(G) 4,3,2,1

(D) 3,4,1,2

4359 x 4-359 — 1-641 i-641

4859 _1ga] —— W AAE!
(A) 63
B) 60
©) 50
®) 73

Page 14



ERGE
'@g%- .

34. The following ~pie-chart shows the
expenditure details of a family. If the total
expenditure on food is ¥ 4800, then how
much is the total expenditure on all the
items ?

Transport
12%
(A) T 15,000
(B) < 16,000
(C) T 17,000
(D) ¥ 18,000
: A 317.

35. Ram spends 65% of his salary and saves :
= 525 per month. Then what is his
monthly income ?

(A) ¥ 1200
(B) ¥ 1500
(C) ¥ 1800
(D) T 2100
2RSP3/11/2023 (15-D)

86. Arrange the following in descending order

(D)

of their magnitude :
1. 2

7
2. 3

4
3. 2

6
s 2

9
A) 1,2,38,4
B) 2,4,3,1
© 4,321

3,4,1,2

4359 x 4-359 — 1-641 x 1:641
4-359 — 1-641

The value of

s ;

(A) 63

(B) 60
©) 50

(D) 7-3
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am 1 3, @ a ded S i Preaerr’ e 3 @ R T=RE 30
2 )

(A) 119 8 : (A) e

B) 2 7 (B) ®™

© ows (C)- JI=UHh

(D) 4W@ 5
| (D) foen

39. wem 20 fww wipfow WAl & A w

‘@TH‘? | 42. = e fomedt @ @ fawm g
(A) 210 ' A - ‘
(A) I
(B> 300 |
(B) usft
(C) 400 ‘
(C) I
(D) 420 :
(D) T&. Bl

40. 1 @ 100 % <= fraft Tt wend 8, fomd @

e 4 & 7 A g fefa G &, afes| 49 X 3R YR 9§ 1 B, Ay o 2 oA, XA

29 4 TF ¥ b w9 H ol A ? WRIBRYI I way 9

(A) 7 ' (A> wr
(B) 10 (B) wran
() 20 (C) v
(p) 21 D) fm
2RSP3/11/2023 (16-D)
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38.

39.

40.

2RSP3/11/2023

If the sum of two numbers is 9 and the

sum of their reciprocals is %, then those
numbers will be

(A) 1and8

(B) 2and?7

(C) 6and3

(D) 4and5

What will be the sum of the first 20 odd
natural numbers ? '

(A 210

(B) 300

(C) 400

(D) 420

How many such numbers are there

between 1 and 100, each of which is not

only completely divisible by 4 but also

containé 4 as a digit ?
A) 7

(B) 10

(‘C) 20

D) 21

41.

42,

43.

(17-D)

_(A)

Just as ‘Court’ is related to ‘Justice’, in the
same way ‘School’ is related to which of

the following ?
Class

(B) Student
(C) Teacher

(D) Education

Select the odd one out from the options

given below.

. (A) Aeroplane

(B) Bird
(C) Tanker

(D) Aerial umbrella

X and Y are two brothers. B is the brother
of A and A is the mother of X. How is B

related to Y ?

(A) Maternal uncle
(B) Mother

(C) Brother

(D) Father
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| weffere % o TR g 8 2
ABC, GHI, MNO, ?_ ‘
(A) RST N s -
(B) STU |
(©) PQR

| (B) @ @)
D) QRS - ' | B 3

45. T e e ¥ @ et e aw wm| () eo'
T | B '

ST B : TE ;9

A) @ | o

(B) Tz«
(C) ==

®) 8. qﬁ‘*’wa‘ﬁ%’,%’mw‘”;maﬁ‘@
@T‘x,w Né “+’_a?ﬁ ’

46. uﬁvﬁﬁmﬁqm?ﬁmwﬁ 16 iy 3

ﬁmﬁi%ﬁﬁmzﬁr |

"
~ P qrfrg (A) 8%
(A) 25 B) gl
3
By 26
1
© o © 05
(D) 28 D) gl
2
2RSP3/11/2023
(18~D)
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44. Choose the missing letters of the series

46.

ABC, GHI, MNO, _?

(A) RST
(B) STU
(C) PQR

(D) QRS

Choose the word with ,relalted: similarity

from the given options.

Room : Floor : : River: ?

(A) Bottom

(B) Fish

(C) Whale

(D) Water

If 16th is on the third Friday of a month,
then which date will fall on the fourth

Tuesday of the same month ?

(A) 25

(B) 26

) 27

(D) 28

2RSP3/11/2023

48.

(19-D)

47. Which of the following figures shows the

relationship between tables, chairs and

furniture ?

(A)

If ‘4’ means ‘+~, ‘*’ means ‘=,

and ‘x’ means ‘+’ then

124+46+3-2x8=2?

@A) sl
3
®) ol
3
©) 9l
4

D) ol
2

— means ‘x’
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49, ﬁg‘ﬁ‘q@q‘[meﬁﬁq

A) 8
(B) 24
(C) 30

(D) 32

0. fargea g @ hIT :

12, 21, 23, 32, 34,7
(A) 43
(B) 37
(©) 36

(D) 42

- 2RSP3/11/2023

51.

52.

53.

(20-D)

54,

Hﬁ‘gwaﬁ‘u%wmm,“r%Wﬁm

T Wmaﬂiwﬁﬁ’a@m,
o gaTE e WA IS@N 7

(A) 9ere
(B) a@ﬁ
'(C) EE|

(D) g

ﬁw%%amgwm%mma@ﬁﬁm
=T i | :

LCEDCE ; e amuahu
(A) Fd9H

" (B) gtwd

(%) arcﬁa

(D) war

af; freft Wik s § 54687 W 43778

o o R, 47502 W et wiehs s d

mw%@m9 o

-('A) 56683
(B) 55683

(C)- 55738
(D) 56873

6 T R E, Rl s 7 v
T R )
@) omeds

(B) "wa

(C) M

(D) deEw -
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49. Find the missing number :

4516

2 ?

(A) 8
_(B) 24
(C) 30

(D) 32

50. Find the missing number :

12, 21, 23, 32, 34,7
(A) 43
(B) 37
(C) 36

(D) 42

JRSP3/11/2023

b1.

52.

53.

54.

(21-D)

If ‘man’ is called ‘womah’, ‘woman’ is
called ‘boy’, ‘boy’ is called ‘girl’, “girl’ is
called ‘pilot’ and ‘pilot’ is called ‘child,
then who will fly the aeroplane ? .

(A) Pilot |

(B) Girl

(C) Child

(D) Man

On thé. basis of the following analogy,
choose the correct option.

Prediction : Future : : Guilt :_?

K (A) Present

(B) Misdeed
©) Past
(D) Repent

If in a code language,'3468_7 is written as
43778, how will 47592 be written in that
code language ?

(A) 56683
(B) 55683

(C) 55738
(D) 56873

Few names are given that share a

common feature, except one. Choose the

odd one out,

"(A) Iceland

(B) Malta
(C) dJapan
(D) Belarus

Page 21



55. A< 30 e, 2023 ) W
2023 ! HgT1 Ry o7 9

(A eEr
B) TER
(C) Sguar
(D) WTeER

a1, @ 2 A,

56. ‘11%59%@%@%&4113?&3%%@%.
A W I H AW 2
(A) 17
(B) 18
(C) 42
(D) 43
57..wuﬁ@ﬁaﬁﬁ§ﬁﬁ§maﬁ%m
=1 garad Sfaffe SEe

O
(A) @

o O
@)

22
2RSP3/11/2023 (

(B)

58. frfufiga f & wF-a1 T T2 “Educationy):
T ¥ ol w1 SEM FE T wm g

el B ?

(A) LION
(B) NATIONAL
(@) DEAN

(D) NEAT

59. ‘@i’ =1 waw ‘TH” ¥ R, s w
‘W”WW;@{%|

A) .
®) i
(G) FeMfymn
(D) wifdmn

60. 3T 1 ] 100 % ) et et R
T et am 7 R o

(A) 20

(B) 21

(C) 29

(B) 19

-D)
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55.

56.

2RSP3/11/2023

If 30th January, 2023 was Monday, then
what was the day on 2nd March, 2023 ?

(A) Sunday
(B) Thursday
(®)] \Vednésday

(D) Tuesday .

Manoj ranks seventeenth in a class of
59 students. What is his rank from the
last ? ‘
A) 17
(B)
©)

(D)

18
42
43

Choose the diagram that best represents

the relationship among the given classes :

Engineers, Accountants, Professionals

(A) O

o O
O

®B)

58.

59.

60.

(23-D)

Which one of the following words cannot

be formed by using the letters of the word

“Educational” ?
(A) LION
(B) NATIONAL
(C) DEAN

(D) NEAT

“Berlin” is related to “Germany” in the

same way as “Jakarta” is related to

(&) UK
| B) France

(C) Indonesia

(D) Malaysia

If you write down all the numbers from
1 to 100, then how many times do you
write 7?

(A) 20
(B) 21
(C) 22

(D) 19
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EaE
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S

ST (797 T 61 & 65) : [y T T 3 34| 62.

W [ReiciEa 3ot & 37 S |
TEATII-1

IR AS-Tiieed i T&@ & al 98 e

%Wmm%mﬁwmﬁﬁé’n.

forelt Toba i % w ReEe @ swtE
T T 1 Wi S om T feE %
T o | A wifeer @ @ § Tew e 9y
ToraT & T A1 el # e S o ATl year
% U | A A IE Wl § T TN Tl aREie
F T # a1 i e & Rl e ot e e
% I | ik Wifeed @A ] W A ger 6 ur
ﬁ,—(@méw%wﬁ IWH@W@I
3 m.amaﬁtguﬁsﬁﬂmﬁm-m%w%
T B 2 | S IR A 98 W R Wi @) ity
AT 3 T, A BE-F w E Eat 6 sy
| de-arted WY B A D o e
ntEl & ST 9ST A1 e DR Rge § Sy
S |

61. wieh-Allecd & @I Ed &
(A) faeare & mams
(B) ﬁmmmqum
(C) ThHE FHaT

(D) R-ERV ST Sflefy

2RSP3/11/2023

(24-D)

63.

64.

65.

el % fop i T el it P e g o
(A) FH I

(B) i

(© W

(D) 3@

(A) =ISH gl AT FREH & I8

@B) frarem ¥ seras % wrg

(R (e R R T P N—
(D) T T 3 g

A R 2

(A) o amg
(B) & T
(C) A ey
(D) % g
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%
OFEES

RSt (vv7 T=ar1 66 8 70) : U 70 Ty % s
R AHlRea 5o & I T /

TTIT-2

WIS AT Teh A1 T 76 § |
IR S | T 4TS W 9N qd e Ry aen
ﬁa:ﬁﬁsgsmaﬁ,wmﬁ@mlamﬁ
AR W A T A W Wiwwed aretq I
R wist § e g fafre e wive
= fow 7€ g A | W o v et
TR W 3ISAT A HHal ® T nemweim v #
TR GR T Weed 3 I &R R i e
AT TEO 13 9 AR B i@ 9 E @
T ? wen % T wiEw % oidew # ot @@
FATd T HEE A Sl @ | ST T e
Wehted 4 A 9REE €1 gu fown fop I day
w Tod FA F W P qu a@ R e I M,
Waﬁaﬂﬁ%mﬁuéz%ﬁmaéqaw'
diun =1 9194 & — TES 9y Gifiafag |

66. WA THI F FHH §
(A) FHH
(B) =Fed
(C) 7gd

(D) @¥d <@

67. YR 5 T TR e A ey o

68.

(A) =g =
(B) JaR T

(C) HegM W

(D) & % T

FYE BT o ?

(A) TRHHN

- (B) fmeR

(€) TEH eq’hmﬁ?rf%@
(D) =R

69. e 1 T B

70, AT Tk Sraw H yEeTd WH A ]

2RSP3/11/2023

(25-D)

(A) T w5

(B) eI

©) tfwmr
(D) 3Yfes w1

(A) 1000 =¥ yd

1500 =
200 9§ 4d
500 a9 qd

(B)
©)

)
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OppAes

A (o7 W 71 @ 75) : Rg T T & SR o e it o6 D @ R ?
R Aeferiaa vl & I T |
(A) HEET

(B) uferd

= (C) &4

m%m%aﬁﬁmqﬁ%ﬂ%ﬁﬁ% (D) g
T g | S 6 aee e e |
qﬁmﬁmmwmﬁ% i |7 wmwaﬁﬂsﬁﬁﬁ@’ﬂ
s fed A @ Reafw T Q@ | dWEe | @A) <t
TR F 99 Sad tfem § | T a6 6 (B)Wwﬁ&m'
W%qﬁaﬁwm%@mm%ﬁ (C),armméaf?m'

@%mﬁ@-@%mmmmww (D) o ; wwe B SR
aﬁ%lwﬁaﬁta@aﬁﬁﬁqaﬁm | |
w0 Fred &, G o R ST A € |74, e e wee dm R R 2

(A) T R g
(B) W%mﬁ@.@:ﬁmﬁ
(C) YU-YH N Taai | W 78w

(D) FEl W WU &

71. ﬁaﬂﬁmﬁmaﬁaﬁﬁmg?

(A) T8 |
76. IRHM wW IR @ R .
(B) dfdzr FEA B ?
(A) widr '
€ 9 (B) e
(D) =TTl ' (C) i
(D) srftediy
2RSP3/11/2023 (26-D)
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AT (wv7 @& 76 8 80) : 13T 7T ey & SUR

W R yo & IW Y |
T4
1857 & fawia it Nt wem =maeran of,
@sﬁﬁﬁmém-%mwﬁmm|

o fwm 3 O @ uE W B i s
e R ¥ R fraw o R ar | s

Tl SR T R W Sl e % e
T gl 3Td: IH TER G SR JHTE H

WTe=T 9 <1 ifd W =em 8 | w3 faeea,

¥ uiomdi ¥ 98 ety fRan eon fo6 SIS
s & Some F ¥ R we @ v @ G
o 1 s & | v ) 2 s e
- 3R T e & fgfa S % T st W

-~

% foe arelt foen <6t eraggear 2 |

76. STEA H A4 3
(4) AUHR =4
(B) #AfU+R I
(C) vl g

(D) &F

2RSP3/11/2023

78.
I ug s feen o 5wl i ameie |

79.

71.

1857 % facea & 1l 3 Fan frepd frepren 2

(A) W Y SEE A <am s et 2 |

(B) Wit # g T ereh 1w 2

(6) Wl I THAT M AT WS
fEm e |

(D) e % foru fds wre wth €

i weistt % oo ¥g Wi @ R
ST =T ?

(A) 3Tt % 9K T ST =R |
(B)  SHIST TS T SRR T SR |
(@) st s  Ruen =R |

(D) TfmE = faeera feman S =nfEe |

m«ﬁ!ﬁﬁﬁwﬁwm@?
(A) 3§ T & T T T D |

- ® ﬁﬁ?ﬁ_@@fﬁﬁﬁsﬁmmm% |

(27-D)

80.

(C) Nﬁﬁa@ﬁaﬁwqﬁ% l

(D) 3 ¥ ey ¥g v & W@y we s
W R

mﬂm%%ﬁmzﬁ

(&) QYRR Tehan 3R WA WrEHT
(ﬁ) AT )

(© R HR e

(D) <hgar Y yran
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- 81.

82.

83.

84.

85.

ey’ w1 e e AgT _ol

(&h) TE

(B) 3 |
(C) uEdarst '

(D) f&

frefafea § @ ot e Bifet :
(A) T, 98 M H = |
(B) dreirs H Sie-ar Gl R |
(©) I T FE |

D) T, § siaE @
mmgﬂw%f

(a) Fra - ffw

(B) T — e

(C) JoE -4

(D) @& —AE@
et IR SeRIeE TIeG BT .

A) =4

<

(B)

i g

€ 3
(D) =R

JRSP3/11/2023

(28-D)

|86..

88.

89.

90.

?q’mmﬁqﬂm’ﬁﬂ?‘ﬂﬁ% :
(A) oFfiw

B) AF=

(© T

(D). &9

g87. ahe frchmels 7@ YA :

A) ST — Sl

- (B) fim -3t
- (C) IUH —HgH

(D) 31 -3

%ﬂﬁ@?’ﬁwﬁ?ﬁmﬁw’%:
&) wHer |

®) fm

() T

D) f=
frefirfios & & 78 wg 3w it -
A) R -

(B) @9 —gweh

@) & -t
(D) & — &

Freaferfed % & 9% wieg o wifow -
(A) dCfl -9

- (B) fEk -

(C) & -7y

(D) w®M -9
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D e 1 AT 7R
A) Fha
(B) &%
(C) =«
D) -

92. ‘g =it fre i qmu faam = @ W *=d | 97.

2
A) fawar

B) "yat

(G) gl

. D) F3

93. @Wﬂﬂﬁ
(A) Y —=7aH
B) TG — TaA
(C) 199 —gm™
(D) 37 — I

94. ¥ wez H WHEGHE] R
(A) T
(B) W=
(C) 494
D) &

95. ‘TR e @ faam g
Ay @
(B) 3w
(C) 3%
(D) IYHN

2RSP3/11/2023

96.

98.

99.

(29-D)

100.

‘aTree’ <1 AFaTE Bom
(A) W@
B) fo
(G) Sl
(D)‘FﬂE'HT

S Y

(A) gustish

(B) 3=
(C) w
(D) 98+

‘mt"m'?ﬂ?qﬁ%:

(A) R

(B) - < 3@ B |
©) SNFgETAR
D) NFsMAA |

‘o e <1 Forcht ¢ = A g o A o

T R HEAT & ?

(A) TR Tifge

(B) e
(6) ¥Far

(D) YR

‘3m2§zﬁaw F"Fé m\% ?
| (A) Fre¥ ofie wiee |
, (B) 9w yreg @ s i e

(©) T o o1 @
M) T § g 7
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